
1.

1Z
1

1

x4
dx

2.

1Z
1

1

x
dx

3.

1Z
10

1

x lnx
dx

4.

1Z
0

e�5x dx

5.

1Z
0

xe�x
2
dx

6.

1Z
0

xe�5x dx

7.

1Z
�1

1

1 + x2
dx

8.

1Z
0

1

x
dx

9.

1Z
0

1p
x
dx

10.

1Z
0

lnx dx

11.

4Z
�1

x

x2 � 9dx

12.

25Z
0

1p
x
dx

13.

2Z
1

1p
2� x

dx

14.

5Z
0

1
3
p
2� x

dx

1.

1Z
1

1

x
dx

2.

1Z
1

1

x2
dx

3.

1Z
2

e�5x dx

4.

1Z
0

1

x
dx

5.

1Z
0

1

x2
dx

6.

1Z
0

1
3
p
x
dx

7.

1Z
5

1

x lnx
dx

8.

1Z
0

1

x lnx
dx

9.

1Z
0

xe�2x dx

10.

2Z
1

x2

x3 � 8 dx

11.

1Z
1

1

x2 + 3
dx

12.

�=2Z
0

tanx dx

13.

1Z
0

1p
1� x2

dx

14.

1Z
0

xp
1� x2

dx

15.

2Z
1

1

x
p
x2 � 1

dx

16.

1Z
2

1

x
p
x2 � 1

dx

17.

2Z
1

1

(x� 1) (x2 + 1) dx

18.

1Z
2

1

(x� 1) (x2 + 1) dx

19.

1Z
0

1
3
p
x
dx

SATPREP

Assignment : Improper IntegralType -1
Type-II



Answers - Type-I

1.)
1

3
2.) 1 3.) 1 4.)

1

5
5.)

1

2
6.)

1

25
7.) � 8.) 1 9.) 2 10.) �1

11.) unde�ned 12.) 10 13.) 2 14.) �3
2

�
3
p
9� 3

p
4
�

Answers - Type-II

1.) 1 2.) 1 3.)
1

5e10
4.) 1 5.) 1 6.)

3

2
7.) 1 8.) �1 9.)

1

4
10.) �1

11.)
�
p
3

9
12.) 1 13.)

�

2
14.) 1 15.)

�

3
16.)

�

6
17.) 1

18.)
1

4
ln 5� �

4
+
1

2
tan�1 2 � 0:170 535 7 19.)

3

2




